
Since HpKerKeri is isomorphic to

ftp 6 we will actually want
to work

with a chaincomplex with chain groups
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DEFINITION

Define two homomorphisms
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be the unique homomorphisms
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Proof
It is enough to prove that E Eid

since I is an isomorphism

Since CnaCK is generated by
the n cells 6 it is enough to
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Define a boundary operator

CntCk c k by

Cnt K Cnw K
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Let us write this differential
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What is happening geometrically
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EXAMPLE
Take k Rp

this is a cw complex

one O cell Go

1 1
one 1 all 6

one 2 all 62

A chain complex
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da so I starting ending
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same
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Option 2 Cw structure

g

O cells

to beI 1 cells
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Cellular chain complex
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Whendoingexercises you don't have to worryabout finding minimal co structure

EXERCISE

Let Mg be a closed orientablesurface

of genus g connected sum of g many
tori

Find CW structure on Mg
Compute homology groups of Mg
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For Mg we have the followingrepresentation

gotta Cw structure
be
far 1 O all be
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be 2g l

cells
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1 2 61182

Cellular chain complex

0 27 2729 2 20



WINTER 2016 Exam X I CW complexes

KEN W Ck 1 all 6 ka all

show that
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Proof
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